50, will be treated as malpractice.

Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.
2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8

USN
Seventh Semester B.E. Degree Examin t
Trlbology
. :(_ @
Time: 3 hrs. Max. Marks: 80

Note: 1. Answer any FIVE full questions, pg

iiing ONE full questtogr %t;gn each module.

2. Use of Design Data handbook is permitted.
g

Historical backgroun ofTri (08 Marks)
f/ Tribology. (08 Marks)
E OR
List out different type of viscometers. Explain anj nc with neat sketch. (08 Marks)
What are the functions oflubricants? Explain. (08 Marks)
éﬁ? ‘%w" =

A, Modu
Define Frlcg;or# What are different typeso of riction? Explain. (08 Marks)
What are the different methods of meai@grl g frictional force? Explain any one. (08 Marks)

) 4

\ OR
List S wear mechanisms. Explainiany one wear mec (08 Marks)
List out various wear testing m;:thods clearly, mep 'oﬁm’g thelr standards. (08 Marks)

~ Module 3 74

on with assump (16 Marks)
Derive an eqlratm; 'for load carrying' (10 Marks)

An Idealized full’Journal bearing has'the following specif ications:
Diameter.of the Journal = 50 mm, Lengt, ofthe bearing = 62.5 mm
of4] ) Radidl le arance = 0.025 mm
Attltgde €=0.8
g capacity (i) @gp -efficient of friction (iii) Power loss of the

Calcplate (i) Load cwm

’bcarmg P {W (06 Marks)
WM ule-4
ying capacity of a plane slider bearing with a fixed shoe.
(yy (10 Marks)

A slider b@%mg has a pivoted shoe by the following data:

Length of the shoe in the c};recﬁon of motion = 50 mm

Width of the shoe = 64 i

Slider velocity = 5.5 m/&ffm

Load on the bearing = 8()25 N

Viscosity of the }ubrxéant =31 CP

Determine mlpl"rhﬁm oil film thickness, power loss and coefficient of friction of bearing?
The inclination’ f the surface corresponds to minimum co-efficient of friction? (06 Marks)

b 4
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a.

b.

e

1SME742

OR

(08 Marks)
A hydrostatic step bearing has the following spepiﬁ%tlons
Diameter of the shaft = 152 mm
Diameter of the pocket = 102 mm
Vertical thrust on the bearing = 65000 N
External pressure = 0
Shaft speed = 900 rpm
Viscosity of lubricant = 24.15 CP,
Oil film thickness = 0.127mm. ,
Find (i) Supply pressure (ii

er loss in the bearing (iv)

Frictional force (v) Co-effic (08 Marks)
List the characteristics of‘bearing materials. Explal y two. (08 Marks)
Determine the co{ﬁ%fn bearing alloys. Explain anhy two alloys. (08 Marks)
f”%istory of Surface Engineering? (08 Marks)

e 2 Explain any two (08 Marks)




